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ō�)XQFWLRQDO�LQWHJUDWLRQ�LQ�FDUU\�ORDG�

VWUXFWXUHV� �!�PLQLPL]HG�PDVV� DQG� LQVWDOOD�

WLRQ�VSDFH

ō� ,QWHJUDWLYH� SURGXFWLRQ� SURFHVV� �!� ORZHU�

FRVWV�DQG�WLPHV�IRU�VDWHOOLWH�SURGXFWLRQ�DQG�

ODXQFK

&RQYHQWLRQDO� VDWHOOLWH� GHVLJQ� XVXDOO\� VHSD�

UDWHV�EHWZHHQ�VWUXFWXUDO�DQG�QRQ�VWUXFWXUDO�

IXQFWLRQV�� 7KH� SULPDU\� VWUXFWXUH� PDLQO\�

VXSSRUWV� PHFKDQLFDO� ORDGV� DQG� SURYLGHV�

DWWDFKPHQW�SRLQWV�WR�WKH�VXEV\VWHPV��7KHVH�

DUH� GHYHORSHG� DQG� WHVWHG� VHSDUDWHO\� DQG�

SURFHVV�� 6XFK� VHSDUDWLRQ� W\SLFDOO\� QRW� RQO\�

LQFUHDVHV�PDVV�DQG� LQVWDOODWLRQ�YROXPH�EXW�

DOVR�WLPHV�DQG�FRVWV�IRU�WKH�SURGXFWLRQ�DQG�

ODXQFK�RI� WKH� VSDFHFUDIW�� ,QWHJUDWHG�PXOWL�

IXQFWLRQDO�VWUXFWXUHV�RIIHU�WKH�SRVVLELOLW\�WR�

HOLPLQDWH�WKHVH�GUDZEDFNV�

%\�IXQFWLRQDO�LQWHJUDWLRQ�QRQ�VWUXFWXUDO�

IXQFWLRQV�WKDW�DUH�XVXDOO\�SURYLGHG�E\�

VWDQG�DORQH�VXEV\VWHPV�DUH�LQWHJUDWHG�

GLUHFWO\�LQWR�WKH�SULPDU\�VWUXFWXUH�GXULQJ�

SURGXFWLRQ��&RPSRVLWH�PDWHULDOV�RIIHU�

KLJK�OLJKWZHLJKW�SRWHQWLDO�DQG�GXH�WR�

WKHLU�PXOWL�OD\HU�FKDUDFWHU�WKH\�DUH�VXLWDEOH�

IRU�IXQFWLRQDO�LQWHJUDWLRQ��HDFK�OD\HU�FDQ�

PXOWLIXQFWLRQDO�VDQGZLFK�SDQHO�KDV�EHHQ�

GHYHORSHG�DW�)UDXQKRIHU�,QVWLWXWH�/%)�

�

�

WUDQVIHU��7KH�SDQHO�LQWHJUDWHV�PRUHRYHU�

WKUHH�DGGLWLRQDO�IXQFWLRQV�E\�XVLQJ�VXLWDEOH�

DQG�LPSDFW�SURWHFWLRQ��7KLV�PXOWLIXQFWLRQDO�

FRQFHSW�RSHQV�XS�QHZ�RSSRUWXQLWLHV�IRU�

KLJKO\�LQWHJUDWLYH�DQG�VWDQGDUGL]HG�VDWHOOLWH�

SURGXFWLRQ�SURFHVVHV�

%DUWQLQJVWUDćH���

&RQWDFW�

VDUD�SHUIHWWR#OEI�IUDXQKRIHU�GH

ZZZ�OEI�IUDXQKRIHU�GH

� PXOWL�OD\HU�VWUXFWXUH�

� PXOWLIXQFWLRQDO�VDQGZLFK�SDQHO�
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